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1 1
= [Ymd+1a Ymd+27 ~'~7)/(m+1)d7 X7]7 m = 03 17 27 ceey (21)

Xm+1
000000000(G) 0000 ZO00O0DOOOO0X,00O0ODOO0OO0OO000 X, 0 m—o0000
0O Z-'oooooooo

(i) X5 "2 [v1, Ve, ..., Yo, X7 00000000 X, (law)

Z-'0oooooo0oo0ooooo
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00 24 0000G) 00 2500d = 1,Y; 2 2y, 000000000X, &

yre= = ("1 +X0)"' 00000000 X, 00000271 000000000000
0000000000000 000000000000000000000000GIG(a,a;—p)
00000000000000000000 X 0 GIG(e,a;—pw) O0D0O0ODOOODOOOOO
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(i) 00 2500d=2000a,b>00000 Yo = 2019, 0Yy = 2b=1y, 0000
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0000X, 000000 GIG(e,b;—p) 000000000000000 O

026 () {Y}2, 00000 20", 0000000 IDOOOO0O0O0 [¥i,Ys,..,Y,)
000000 n—oo 000 GIG(a,a;¢) 0000OODODO

(i) {¥}, 0000000000a,b>00000 Yar =) 247 1y,0 Ve 2 2614, 010
000000 [Y3,Ys,..,Y,] 000000 n—oo 000 GIG(b,e;) 0000000

22 0000

0000000 2300000000000 Gamma OODO GIGOOOODOODOOOOOO
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00 2.7 4, 000000 40 GammaD0O000O00000001%),1*) 004,000
000000 GIG(a,b; ), GIG(a,b;—p) 0000000000000000000
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glo00b0oboobbooboo 2300000b00oo00obDOoobDoboboDobooooDbo
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000000O0O0oOOoODOO00000 GammaOODO GIGODODODODODODOODODOOOOO
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00 2.8 X, Y OOOOOODOODOOODOY ODOODOOOOO0OO0ODOO0OO0O0OOD0O0OoOOooooon

1 1 1 (law) (—p) (law) _
— [ —— oooOooooodda,b oooooo X =1 My 261
XtV X X4V @GO = ab

oobooobooooboooboooooon
0ob 270000000

1

M = {(k1, k2) € (0,00)%; <k11 ) oooo b,

k2

1
U (k) = (ka =
2

éQ)(kla ko) = (K1, ko —

kg) : M — (0,00)?,
1 2
—): M — (0,00)
k1
0000000000000 DO00DO
(2) (2)-1 . 1 1 .

(Y17 othy )(xyy) = (xl - WJJ-HC ) (2.2)

0000w>0,a,b>000000(K;,K.) 0 M-00ODODOOO0ODO
1
P(K; € dky, K3 € dko) = C ™ (k1ky — 1)" ! exp (—Q(alﬁ + bkg)) dky dks

gobooboboobooobd

oo 29 IGM, 1% 0+,00000000
2 (law) 2 (law) (law) 1 2
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000 Laplace 00O OOO0OOOOOOOODOOODOO

00 2.70000(22) 000

_ 1 2 1 1 _ (—p)
(w(Q) ° (2) 1)(77 ) — < _ 72b 1,7 +Ia 123 )
1 2 IC(J)H) ' Ii;}#) 2b—1,yu + It(l;)H) ® b

ob0o0o0o 2900
@ g p@-1y (L 2 N Gaw) oo 0
(P17 0ty ) I(,Wgw =" (2a Vi a,b)-
a,b

00 2800000000

1 V_1 1
T X+Y’ X X+4Y

0000a20,0>0,0>0,00000

A:exp(—aX—f()7 B=exp<—;—9U>

DIZIDIZIV—Y ggoooooog
U X

00 2.10 E[Y®e °Y]E[A/X*] = E[V*e "V |E[B/U"].
OooU+V=X"'0oOoO

B Vv Y\* A
Va€76VW _ (U) 670(U+V)70/U — <X> 670/X70'(X+Y) — YaefaYﬁ.
gooooX 0O youovoooooooooooopoooooooo ]

ooooooooooo
log E[Y“e™Y] +log E[X e~ 7X=0/X] = log E[V®e %] + log E[U %~V =/U],

OooeOODOODOODO
E[X—a—le—oX—a/X] E[V‘)‘He*HV] E[UfaJrlefGU—a/U]

E[XfozefaXftWX] - E[Voce—e\/] E[Ufaeerfa/U]

gboboooobg e 0bOoO0OOOO
E[XfozflefaXfG/X}E[XfoleefaXfﬁ/X]
(B[X —ce-oX—0/X])2
E[U‘a“'le_eU_"/U]E[U‘O‘_le_eU_"/U]
(E[U—ae—GU—a/UDQ

—1+

OO0O00a=100000

E[X—2A|E[A]  E[B|E[U2B] (2.3)
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oooood
0oooooooo e=0,1,20000000000

Ele"Y]E[A] = E[e~"V]E[B],
ElYe °Y|E[X 1A = E[Ve V|EU D],
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—¢'(0)
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log OYQooooooo

¢l0) = Ble™] = (1+ pmo) "

gooo
Gamma 000 Laplace DODO0OF>00000
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Ele Pom] = / —— gL (HBT gy — (1 4 o)™
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1
Doo01/p=p0000Y 2 21y, 000 b>0000000000000
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vooooooode>o00000 V™ 2%y, 0000
DDDDU,VDDDDDDDD’}/H,’}/;DDDDDDDD
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U4V U422y 20+ perey
i
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gogooooo (I
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2.3 tree 0 GIG, Gamma OO 17
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oobooOooooOoooobooobooOooOooOooOoOobOboOoboboOoOoOooon

]411 (0% 0
Mg = {k = (ki k2, k3) € (0,00) K(k)= | a ky g | 0000}
0 B ks

k= (ki ks, ks) 00000000000000000000D0
kO0O0DO0D0OO0OODO0D000000O0tre 0000000000000 root 00000 10
0000000000000000000000000
“” 0 root 00000000 1«—2+«— 3000000 (leaf) 3 0000000000
ks = ksOleaf 00 “2” 0000 0ky = ko—(2/ks0000000 “1” 00000k = ki —a?/ks
OO0laf 00000000000

53)(k1, ko, k3) = (%1,?52,%3) : M — (0,00)3, diffeomorphism

ooo ¥ oooooo

“» 0 root 00000000 1—2«— 300000000000 (leaf) “1,3” 00D O
000000k =k, ks =ksOleaf 00 “2” (root 00 0) 0000 ky = ky —a?/ky — 32/ks
00’ 0000000000000000
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ooo ¥ Dooooo
000M, 300000 (K, Ky, K3) 0000000000000000004 > 0,a € (0,00)3
oooo

P(K, € dky, Ky € dky, K3 € dks) = C~ (det(K (k))*Le™ @R/ 2dk, dkydks.

00 2.2 0000000O0OWisshart 00000000000 000000O000OO0O0OOO
ooboooooooooboocooobood
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0000000000000000000@G) 00000
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000000000 pe (0,002 000
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(0,00)" 0000D0n 00000 K(k) = (ky) O
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oooodoooM O
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0000wp>0,a€c(0,00)", 00000
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ooboooooooooboocoOooOoocOooboOooon

2.3 tree 0 GIG, Gamma OO 19






0 30
O0doodoooooood

3.1 Black-Scholes formula
M={M,}000000D00000 (,F,{A},P)00000000000000000
lim M; =0
t—oo
0000000000000000 Brown 00 {eB:—o"%/2) pooOoOoooooo
goo0ooOoooooooooo

Ly = sup{s; M; = b} ({ }=00000 L,=0000)

00000000000 0000 BrownOOOOOOODOOODOOODOOO0OODOODOOO Madan-
Roynette-Yor® OO0 000000000
b>00000 E[(M;—b),],E[(b—M,);]0 L,0000000000000000000
000000 European option 0000 Black-Scholes 0000000000 OOO
gooooooooooo
00 3.1 M*=sup>,M; 00000M, <z D000

M,
P(M* 2 z|Fy) = P(0 < L, < 00| Fp) = 70

O0o0ooooooooo
My

P(M* < )= P(L; =0)=1-—.

00 31 z<M,0000 PM*<2)=000000000 z>0000000000

P(M* <) = P(L, =0) = <1 - JZO>+

0000, =inf{t >0;M;, =2} 0000000000000 {Mj,,} 0000000000
00E[M,,|F) =M, 000000000

E[M, |Fo] = xP(0, < oo|Fy) = xP(M* = x|Fo)

goooooooo U
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00 3.2 000 bb>00F/-000000 F,O00000
E[F(b— M)+] = bE[Fily, <]

000000000E[(b- M) =bP(L,<t)000000
00000000000P(Ly <t|F)=b"(b—M,);. L,<t0 t000 00000000
0000000 P(Ly < t|F) = P(sup,>, M, < b|F) 00000000000000000 O

0000000 K O European put option 0 t=00000000000 Black-Scholes O
gooogo

031 {B}0O By=000 100 Brown 000000006 >0,5>0,K>000000
oooooo

E[(K — Syexp(oB, — 0°t/2)) ] = KP(LY <),

0000LY = sup{u; S exp(oB, — 0?u/2) = K}. 00000
2 1 K 2
E[(K — Soexp(cB; — o t/2))+] = KP|( supqu; B, — Ju= log 5 <ott).
0

000 Black-Scholes 0000000000000 OOOOOOODOOOOU0OOODOOOOOO
uod s, 000bb00O0boboOoOoooobcooobobo0ooooboooooboooooooon
ooooooooboooobooobooOoo

DDDC&HOptionE[(Mt—b)JF}DDDDDDDDDDDDDDDDD limy oo My =000
godooooooo
000My=1, M; >0 (Vt>0)

POO M, 0000000000 ODOOODOODOOO QOOOO

Q =M,-P

Fi

gobooooboon

Fi

00 3.3 {(M)"'}0 QODOOD0O0O0DO0O0DO0OD0
O00F, 0 7-000000D000000¢>s0000

] -] - e ]

0000 EC[(M) Y F] = (Ms)™ 1, as. a

00 34 Q(M; — oo, t —o0)=1.
D000D00e>00000 o.=inf{t;M; =¢} 000000000000000 Qo <n) =
cPlc,<n),n>0,0000000000n—oc0o000000O 3100000

Qo < o0) =cP(o. < o0) =cP(supM; 2¢) =1

0000000000000 ¢>00000 Q(re<o0)=1000000
0D00O0{(M;)"!'}0 QOOODO (0)0000000000¢t—o0o000000000
0000000000000000
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Q(tlim My =) <1 0ooo Q(sup My < 00) > 0,
— 00 tzo

000000000 ¢>00000 Q(supM; <¢)>000000000 Q(re < o0) =1,¢> 0,
0ooooo O

OO0 calloption 000000000 OOOOO

00 3.5 00000000000
ET[(My = b)4] = Q(Ly < 1).

oooUooood

EPKNQ—bp]::EP[<L—AZ>+Aﬁ}:lﬂgkl—ﬂl)+].

000004{y/M;} 0 Q-00D0000000O0OOt—oc 000 000D0OOODOOOODODO
UO000000D00000 320000000000000 O

00 European call option 0 00 0000000000000 0ODOOOOOOOOO0O0O
oboboooooooog

0 3.2 000000O0O0006,r>0,5 >0,K,000{B,}0 B,=0000 100 Brown
0007 >0000000000

efrTEP[(SOeaBT+(r7(r2/2)T . K) _ EP[(SOeUBTfaQT/2 . KefrT)

000 (Dooooo"=oooooPO {B;}0000000OOOOODO
oo0o0oot<TOOO

EP[(SOe“Bt_Jzt/Z . Ke—rT)JJ _ SOEP[(SOeUB"_Uzt/Q - Ke_rT/SO)_‘_]

0D+000000000¢77T 0000
{M; = exp(¢B; —0?t/2)} DOOOO0D0O0O0O0 QOODODO

Ql =M-P

Fi Fi

00000 35 000000 Cameron-Martin 00000 {B” =B, —ot} 0 QOO0
Brown 00000000

- K
BP[(Spe” P12 — Ke'T) ] = 50 (Sup{u; e Bt/ = Se’“T} < t>
0

1 K
= SoP( supd s; By + =s = log| —e™ ™" <o?t
2 So

000000000000 000D000D0000 GaussOOOOOOOOODOt—T0000
oooo

EP[(SoeaBt—U2t/2 _ Ke—rT)+]

T 1/u  (log(Ke T /Sy))?
— —rT/2 e 0
vV SoKe A Worm exp( 5 <4 + " >) du.

000000 Black-Scholes 10000 0 UO0OO0OO00O0O0O0OO0OO0DOOOOOOOOOOOO
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efrTEP[(SoeaBT%»(rfg?/mT o K)+] _ Soq)(dl) _ KeirT(I)(dQ).

DDDDdl,dQDDDDDD
1 SO 0'2
dy = ——{log( 22 I\
! aﬁ{°g<K)+(’"+2> }

dy = ml/T{log<§§> + (r— U;>T} =d; —oVT.

goboobobooboobbooboobobooboobbooboobon

3.2 O0Ooooooooo

00000000000000000

00 3.60 Madan-Roynette-YorD {M;} 0000000000000 limgeo My =00
00000000000000

()0D00 ¢t0000 M, 0000000 ¢(z) 00000¢(z) 0 (t,2) 0000000
(i) d(M); =v?dt 0000 v 00000 E My =2]0 (t,z) 000000
00000My O nonrandom 0000000000000

t

1

PO<Lyst)= [ L E|M. = bl (t)ds.
0

00 3.2 P(Ly,=0)=PupM;<b)=(1-b"'Mpy), DOODDOODO

000000000000000000000000{AY} 0 MO bODOOODODOOODOOO
ooooooooon

t
1
(b— M)y = (b— Mo)y — / L, <vydMs + §Al£
0
1
E[(b—M;)4] = (b— Mo)4 + iE[Aﬂ

00 3200 E[(b— M)y =bP(L,<t) 0000
000000000 (b— M)y =bP(L,=0)00000000

1
PO <Ly < 1) = 5 EIAY

oobooooboooooooobooOoboboOoOobOboO0oOoOoOoO0ooOoOoOoboOoOoobOoOooobooOoOon
ooooooooon
000 ¢ 000D0O0O0O0O0DOOOOODODOOOOO

t o0
/ H(M.)d(M), = / $(B)A® db
0 0
00000000000 ouoUoU0ooUooooFebini OO0 QOQ
t o0
E[ / ¢<Ms)u§} - / 6(b) E[AY) db
0 0

oooooooooooo
gooooo

/0 E[$(M.)u2)ds = / E[6(M,)E[u?|M,]]ds = / " o(v)d / B[ M, = by (b)ds
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goboobogon

1 1/t
PO<Ly,<t)= 2be[AQ] = 27)/0 E[u?|M, = b] s(b) ds. O

033 ¢c000000{B,}D0 000000 100 BrownOO00000M, =Mexp(oB; —
¢2t/2) 0000000000000000

dM; = o MdB;, d(M); = o®?M? dt,

goon
1 (0= log(b/My) + at/2)2>
P(M; € db) = ¢(b) db, OO b) = —— — ,
(M, € ) = ) ) = e u
gooo
o (071 1og(b/My) + ot/2)?
P(Ly edt) = —— — dt
(Ly € dt) 2 thexp( o

O000L, 00000 GaussOOODODODODOODOOOOOOOO
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O 2.5 00O

0000000000000000000000000
{y,}2, 0000000000000 [y,....,ys] O

Y1) = Y1 Yy -osYn| = Y1 + 7
[ ] I [ I TL} [y2’“.,yn]a
0000000 00n=2,3000000000000
1 iy +1
el =yp+ —=——, yY2,Y3) =y + ————.

[y1,92] = 11 » " [Y1, 92, y3] = 11 P
{pn},{qn}D

P1 = Y1, P2 = y1y2 + 1, Prn = YnPn—1 + Pn—2, n=3,4,..

@1 =1, G2 = Y2, Gn = YnGn—1 + Gn—2, n=3,4,..
goooooooooooo
ogd A.d

Pn
(Y1, yn] = —n=1,2,...,; (A1)
n
p DPn+1 -1)"
pnqn+1_ann+1:(_1)n7 oooo l_L: ( ) 5 n:1727~--7; (A2)
dn anrl QnQnJrl
kpn+pn—1
Yty oo n k] = ——2— 2L =23, A3
[ Yn ] kqn + qn-1 ( )

000000(A3)0000000DOR=200000

1 _ ket D +E kye+ D+
ya + 1/k kys +1 kys +1

00000rn=2000 (A3)0000
n00000000000000

(Y1, Y2, k] = y1 +

(Yn+1+1/k)pn + pn—1
(Yn+1+ 1/K)an + qn—
_ k(ynJrlpn +pn71) +pn _ kpn+1 +pn
k(yn-HQTL +Qn—1) +an kQ7z+1 + qn
DDDDDDDDDDD{pn},{qn} 00000000000 0On+100000 (A3) ooad
ooo

O00(A3)00n—-100000k=y, 000000000

[ylv "'7ynayn+17k} = [y17 s Yny Yn+1 + 1/k] =
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_ YnPn—1 +pn—2 _ DPn
[y17 "'ayn—hyn] - -
Ynldn—1 + qn—2 dn

0000D00(A1) 0000000
(A2)0000000nr=100000p1ge—@p2 =y1-y2— 12 +1)=—1000000
000 n000000{p,},{¢.} 0000000000

Prlnt1 = Pl = Pn(Ynt1qn + Gn-1) = Gn(Yn+1Pn + Pn-1) = —(Pn-1¢n — ¢n—1Pn)
0oo0o0o0O0(A2)0000 O
00 2.50000(3) {P.},{Q.} O
P =Y, P, =YY, +1, Py=Y Py 1+ P, n=34,..
Q1=1, Q2 = Yo, Qn =Y Qn-1+0Qn-2 n=234,..
000000000Z%, =[Yy,...Y, =P,/Q, 000000

ClaimOn 0000 {Zy,_1} 000000{%,} 000000000 Zaypiy < Z2p0
) (A1), (A.2) 000

Pongr Pono1 Yonp1Pon + Pon1 Pona

Qont1 Qan—1  Yoni1Qon + Qan-1 Qon—1

_ —Yon11(Pon—1Q2n — Qan—1Fan) _ ~Yapt1(—1)*"1 >0
(Yv2n+1Q2n + Qanl)Qanl (Y2n+1Q2n + Qanl)Qanl '
gooo
PQn B P2n+2 _ PQn o Y2n+2p2n+l + P2n _ Y2n+2(P2nQ2n+1 - QQnP2n+1)
Qan  Qany2  Qon  YopioQony1 + Qon Q2n(Yon4+2Q2n+1 + Q2n)
_ Yont2(—1)2" 5 0.
Q2n(Yon4+2Q2n+1 + Q2n)
gooo
P P P il — P —1)2n
on_ Pontr _ onQon+1 — QanPont1 _ (-1) >0, 0 (A1)
Q2n  Q2ny1 Q2nQ2n41 Q2nQ2n41

(A4) 000 QnQny1 — 00, as. 00000Z, 000000000000 Qor 2 Q2 =Ys
O

Qant1 =1+ Z(Q2k+1 —Qak—1) =1+ ZYQkHQQk 21+ ZY%HYQ — 00, a.s.
k=1 k=1 k=1

0000000000000000000000000000000000 (()00000000
(i) {X,,} 0000D00O0OOOOOOO

1 1

Xi»m = [Yr(m—l)d-‘rh )/(m—l)d—&-Q; ey Ymd7 YV(m—Q)d-‘rh ey Yr(m—l)d? cey Y17 sty Yd7 YO]

(law) 1
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